Eigenvector Eigenvalue

Definition in terms of the Wilson Coefficients
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EV43’ 0.0040 —021Re(cyy) + 026c5,) + 023cyy) + 0.06ch) + 0.06ch) —
0175, — 012c5)) — 0.06c((21)1 020c5) + 0.09¢) — 021 cgg +
0.50c(y +0.33c% —0.58cfy)

EV44’ 0.0029 —019cl] + 0.35¢) + 023l + 020 — 039" — 0.54cy +
0.35¢%) —0.19¢l) +0.37¢f)

EV45’ 0.0022 0. 07Re(ctw) +0.10c50) — 031c5y) —017chy —045¢) — 0465, +
041c5? — 0.24c£221 0.05c§28> - 020c<1> + 006c(d) +031c} )
020c% —0.16cf

EV46' 0.0021 —015Re(cyyy) — 018ch, + 019chy — 0.57¢) — 014chy +
0.64c5) +013¢) +0.18¢ —0.10c) + 0118 )+0110( ) —027c®

EV47’ 0.00071 O.OSRe(ctB) — 0.08Re(cyy) + 0.06cg’ql) 021c<38) + 017¢5) -
0.15ch) + 0.54ch,) + 011ch?) + 034cy) — 0.14c£231 +005cY) +
0465 +0.27cly —0.08cly — 035}y — 0.18¢(y)

EV48’ 0.00044 0.14Re(cyy) +0.19¢7 +0.32¢y; )+016c( L +0.11ch) —0.10c5,) -
0075 —040c5) —016c), +0.13 ) +0.66c —0.24c§ft> +0.29¢Y

EV49’ 0.00011 —0.27Re(cpyy) — 0.07cHd + 021Re(cy) + 0.20Re(cy) — 051chy +
052¢3), + 0.13¢5, ) + 0.08c5.) — 023ch) — 005ch,) — 0.07¢5) +
0.24c%) — 0200()+009c() 0.33¢(V

EV50’ 0.00010 —0.20Re(cpy) — 0.05¢Hy — 0.16Re(cpy) — 0.38cliy + 039¢h) —
025c5,) — 0.13c5 + 0.33¢h) + 0.05¢5,) + 0.07c5) - 0.34c$1 -
0.07¢& +0.26cy —0.11cly +0.47cyy) +0. 09 ®

EV51’ 0.00005 —0.23Re(cys) — O.OSRe(ctW) — 0.06¢{1, + 0.06¢(i, — 0.08¢y; +
028c5y) — 0.30chy — 0.32¢h) + 020ch + 0.65¢)), — o.zacgfl =
0.08¢y +0.21¢% —0.17cl) 008c( ) +018c§ ) —014c®

EV52 0.00001 0.06Re(cs) — 0.11¢5) — 078c( 5 +021c8) +022¢57 — 0235 +
0.16c()—006c(1)+013c(8)—|—037c() 009c”+019c£u)+006c£u)

EV53’ 0.000005  —0.81Re(cp) — 0.10¢yp + 040Re(cr) — 0.07Re(cwy) + 027¢pp), —
027 c{3y — 0.05¢; +0.07 ¢l

EV54’ 0.000001  —0.30Re(cyy) + 0.76 CHO — 055 Re(cgp) + 0.06Re(cay) + 0.06c5) +
0.05ch,) —0.09¢h), —0.07cyy

EV55’ 0.0000005  —0.35Re(cppy) — 0.65cpyr — 0.65Re(cys) + 0.06 Re(cpy) + 0.07¢CY) —

Qq
(38) (1,1) 1) 1) 1)
0.05 €Qq +0.08 Coq" — 0.10 Cou T 0.05 Cqt — 0.07 ¢y,



